Declaration of Results Broxburn Uphall and Winchburgh Ward 04/05/2012

I declare that the result of the election in the Broxburn Uphall and Winchburgh Ward is as follows.

There are 4 councillors to be elected.

The percentage poll was 40.56%. There were 5499 valid papers and 99 rejected papers.

The quota of votes for a candidate to be elected is 1100.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
Tony BOYLE	1161	1
Diane CALDER	1551	1
Janet CAMPBELL	617	6
Alex DAVIDSON	1088	2
Ellen GLASS	766	
Jack THOMPSON	316	

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	9
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	17
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	73
Total number of ballot papers rejected	99

Signature : Returning Officer

Com Ru Ma

Date: 4 May 2012

Election Results Broxburn Uphall and Winchburgh Ward 04/05/2012

Total Number of Ballots Received	5598
Total Number of Valid Votes	5499
Number of Vacancies	4
Quota	1100

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of Diane CALDER	Stage 2	Surplus of Tony BOYLE	Stage 3
Tony BOYLE	Scottish Labour Party	1161	0.00000	1161.00000	-61.00000	1100.00000
Diane CALDER	Scottish National Party (SNP)	1551	-451.00000	1100.00000	0.00000	1100.00000
Janet CAMPBELL	Scottish National Party (SNP)	617	389.35442	1006.35442	6.83020	1013.18462
Alex DAVIDSON	Scottish Labour Party	1088	19.19148	1107.19148	0.00000	1107.19148
Ellen GLASS	Action To Save St.John's Hospital	766	25.58864	791.58864	24.53618	816.12482
Jack THOMPSON	Scottish Conservative and Unionist	316	4.65248	320.65248	3.46764	324.12012
Non-transferable votes		0	12.21298	12.21298	26.16598	38.37896
Total		5499	=	5499.00000	=	5499.00000

Election Results Broxburn Uphall and Winchburgh Ward 04/05/2012

Total Number of Ballots Received	5598
Total Number of Valid Votes	5499
Number of Vacancies	4
Quota	1100

Name of Candidate	Party	Surplus of Alex DAVIDSON	Stage 4	Exclusion of Jack THOMPSON	Stage 5	Exclusion of Ellen GLASS
Tony BOYLE	Scottish Labour Party	0.00000	1100.00000	0.00000	1100.00000	0.00000
Diane CALDER	Scottish National Party (SNP)	0.00000	1100.00000	0.00000	1100.00000	0.00000
Janet CAMPBELL	Scottish National Party (SNP)	0.89822	1014.08284	40.18597	1054.26881	356.97482
Alex DAVIDSON	Scottish Labour Party	-7.19148	1100.00000	0.00000	1100.00000	0.00000
Ellen GLASS	Action To Save St.John's Hospital	2.61583	818.74065	178.16328	996.90393	-996.90393
Jack THOMPSON	Scottish Conservative and Unionist	0.48402	324.60414	-324.60414	0.00000	
Non-transferable votes		3.19341	41.57237	106.25489	147.82726	639.92911
Total		=	5499.00000	=	5499.00000	=

Election Results Broxburn Uphall and Winchburgh Ward 04/05/2012

Total Number of Ballots Received	5598
Total Number of Valid Votes	5499
Number of Vacancies	4
Quota	1100

Name of Candidate	Party	Stage 6	
Tony BOYLE	Scottish Labour Party	1100.00000	Elected
Diane CALDER	Scottish National Party (SNP)	1100.00000	Elected
Janet CAMPBELL	Scottish National Party (SNP)	1411.24363	Elected
Alex DAVIDSON	Scottish Labour Party	1100.00000	Elected
Ellen GLASS	Action To Save St.John's Hospital	0.00000	
Jack THOMPSON	Scottish Conservative and Unionist		
Non-transferable votes		787.75637	
Total		5499.00000	

Transfers Report Broxburn Uphall and Winchburgh Ward 04/05/2012

Valid Ballots	5499
Positions to be Filled	4
Quota	1100

Stage 1	First Preferences
Tony BOYLE	1161
Diane CALDER	1551
Janet CAMPBELL	617
Alex DAVIDSON	1088
Ellen GLASS	766
Jack THOMPSON	316

Tony BOYLE Elected with 1161 over quota 1100 Diane CALDER Elected with 1551 over quota 1100

Stage 2 - Surplus of Diane CALDER **Total Votes** Transfer Weight Transfer Value Action Transfer to Janet CAMPBELL 1339 0.29078 389.35442 19.19148 Transfer to Alex DAVIDSON 66 0.29078 Transfer to Ellen GLASS 88 0.29078 25.58864 Transfer to Jack THOMPSON 0.29078 4.65248 16 Non-transferables 12.21298

Stage 3 - Surplus of Tony BOYLE			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Janet CAMPBELL	130	0.05254	6.8302
Transfer to Ellen GLASS	467	0.05254	24.53618
Transfer to Jack THOMPSON	66	0.05254	3.46764
Non-transferables	26.16598		

Stage 4 - Surplus of Alex DAVIDSON			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Janet CAMPBELL	29	0.00188	0.05452
Transfer to Janet CAMPBELL	130	0.00649	0.8437
Transfer to Ellen GLASS	14	0.00188	0.02632
Transfer to Ellen GLASS	399	0.00649	2.58951
Transfer to Jack THOMPSON	2	0.00188	0.00376
Transfer to Jack THOMPSON	74	0.00649	0.48026
Non-transferables	3.19341		

Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Janet CAMPBELL	7	0.00649	0.04543
Transfer to Janet CAMPBELL	2	0.05254	0.10508
Transfer to Janet CAMPBELL	7	0.29078	2.03546
Transfer to Janet CAMPBELL	38	1	38
Transfer to Ellen GLASS	2	0.00188	0.00376
Transfer to Ellen GLASS	24	0.00649	0.15576
Transfer to Ellen GLASS	16	0.05254	0.84064
Transfer to Ellen GLASS	4	0.29078	1.16312
Transfer to Ellen GLASS	176	1	176
Non-transferables	106.25489		

Stage 6 - Exclusion of Ellen GLASS			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Janet CAMPBELL	7	0.00188	0.01316
Transfer to Janet CAMPBELL	98	0.00649	0.63602
Transfer to Janet CAMPBELL	88	0.05254	4.62352
Transfer to Janet CAMPBELL	54	0.29078	15.70212
Transfer to Janet CAMPBELL	336	1	336
Non-transferables	639.92911		

Preference Summary Report Broxburn Uphall and Winchburgh Ward 04/05/2012

Total Number of	
Valid Ballots	5499
Quota	1100
Percentage Turnout	40.56

	Number of 1st	Number of 2nd	Number of 3rd	Number of 4th	Number of 5th	Number of 6th
	preference votes for					
Candidate Name	each candidate					
Tony BOYLE	1161	1022	430	288	150	55
Diane CALDER	1551	763	406	193	104	30
Janet CAMPBELL	617	1497	324	219	150	75
Alex DAVIDSON	1088	1142	495	282	132	52
Ellen GLASS	766	515	1195	179	215	63
Jack THOMPSON	316	167	247	182	83	408

LIVE ELECTIONS MAY 2012 First Preference By Ballot Box Report Broxburn Uphall and Winchburgh Ward 04/05/2012

Numbers of Preferences alloc	ated to
each Candidate	

		Janulua				
BOX 016/17 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	97	38	26	14	4	5
Diane CALDER	82	64	23	10	4	2
Janet CAMPBELL	55	79	18	10	13	3
Alex DAVIDSON	39	86	23	13	10	5
Ellen GLASS	47	32	74	10	9	4
Jack THOMPSON	18	18	20	11	4	17
BOX 018 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	102	49	24	15	4	2
Diane CALDER	50	42	28	11	10	3
Janet CAMPBELL	39	55	16	22	7	4
Alex DAVIDSON	47	81	32	9	7	2
Ellen GLASS	59	40	64	12	6	4
Jack THOMPSON	12	8	13	3	9	14
BOX 019 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	74	42	27	18	4	3
Diane CALDER	65	51	31	10	10	1
Janet CAMPBELL	47	73	15	13	3	8
Alex DAVIDSON	38	68	22	15	12	2
Ellen GLASS	47	24	57	6	12	1
Jack THOMPSON	14	9	10	9	3	22
BOX 020/21 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	34	56	23	7	6	2
Diane CALDER	77	25	18	6	4	1
Janet CAMPBELL	16	84	22	11	2	4
Alex DAVIDSON	76	47	23	6	3	4
Ellen GLASS	57	35	54	4	7	3
Jack THOMPSON	27	7	6	14	4	9
BOX 022 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	147	57	16	8	6	2
Diane CALDER	80	73	22	6	4	2
Janet CAMPBELL	72	83	14	13	3	1
Alex DAVIDSON	68	128	21	12	5	2
Ellen GLASS	23	29	60	2	9	1
Jack THOMPSON	15	4	8	8	1	15
BOX 023 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	95	52	30	23	17	3
Diane CALDER	103	78	34	16	10	2
Janet CAMPBELL	66	103	27	14	12	5
Alex DAVIDSON	42	88	40	27	6	3
Ellen GLASS	53	28	83	19	18	7
Jack THOMPSON	23	11	20	15	8	36
BOX 024 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	71	47	25	17	8	2
		0.5	25	7	2	2
Diane CALDER	82	95	23	, ,	_	
Diane CALDER Janet CAMPBELL	82 91	76	22	15	10	2
Janet CAMPBELL	91		22	15	10	2
		76				

BOX 025 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	65	156	48	34	23	5
Diane CALDER	190	50	41	18	13	4
Janet CAMPBELL	21	175	43	25	17	12
Alex DAVIDSON	205	78	51	32	11	7
Ellen GLASS	60	49	130	22	26	6
Jack THOMPSON	22	20	23	20	9	49
BOX 026 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	36	84	26	6	5	3
Diane CALDER	101	26	16	6	4	0
Janet CAMPBELL	7	84	18	6	7	2
Alex DAVIDSON	100	38	21	13	3	0
Ellen GLASS	30	21	43	9	9	2
Jack THOMPSON	9	8	8	4	4	13
BOX 027 BUW	1st	2nd	3rd	4th	5th	6th
Tony BOYLE	47	70	20	20	6	4
Diane CALDER	89	28	16	6	3	1
Janet CAMPBELL	19	88	20	7	1	3
Alex DAVIDSON	75	46	25	14	9	1
Ellen GLASS	39	29	60	8	9	4
Jack THOMPSON	21	10	11	13	7	10
BOX 028 BUW	1st	2nd	3rd	4th	5th	6th
BOX 028 BUW Tony BOYLE	1st 47	2nd 46	3rd 9	4th 11	5th 2	6th 0
					2	
Tony BOYLE	47	46	9	11	2 3 3	0
Tony BOYLE Diane CALDER	47 83 19 42	46 19 74 43	9 13 12 15	11 6 8 8	2 3 3 5	0 0 1 0
Tony BOYLE Diane CALDER Janet CAMPBELL	47 83 19	46 19 74	9 13 12	11 6 8	2 3 3	0 0 1
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON	47 83 19 42 21 11	46 19 74 43 21 5	9 13 12 15 62 7	11 6 8 8 2 1	2 3 3 5 6	0 0 1 0 1 1 13
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW	47 83 19 42 21	46 19 74 43 21	9 13 12 15 62	11 6 8 8 2	2 3 3 5 6	0 0 1 0
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON	47 83 19 42 21 11 1st 77	46 19 74 43 21 5 2nd 70	9 13 12 15 62 7 3rd 34	11 6 8 8 2 1	2 3 3 5 6 1 5th	0 0 1 0 1 13
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW	47 83 19 42 21 11 1st	46 19 74 43 21 5 2nd	9 13 12 15 62 7 3rd	11 6 8 8 2 1 4th	2 3 3 5 6 1 5th	0 0 1 0 1 13 6th 2
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE	47 83 19 42 21 11 1st 77	46 19 74 43 21 5 2nd 70	9 13 12 15 62 7 3rd 34	11 6 8 8 2 1 4th 26	2 3 3 5 6 1 5th	0 0 1 0 1 13 6th
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER	47 83 19 42 21 11 1st 77	46 19 74 43 21 5 2nd 70 26	9 13 12 15 62 7 3rd 34 25	11 6 8 8 2 1 4th 26	2 3 3 5 6 1 5th 14 3	0 0 1 0 1 13 6th 2
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL	47 83 19 42 21 11 1st 77 135	46 19 74 43 21 5 2nd 70 26 142	9 13 12 15 62 7 3rd 34 25 21	11 6 8 8 2 1 4th 26 18	2 3 3 5 6 1 5th 14 3	0 0 1 0 1 13 6th 2 4
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON	47 83 19 42 21 11 1st 77 135 19 68	46 19 74 43 21 5 2nd 70 26 142 72	9 13 12 15 62 7 3rd 34 25 21	11 6 8 8 2 1 4th 26 18 15	2 3 3 5 6 1 5th 14 3 14 7	0 0 1 0 1 13 6th 2 4 2
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS	47 83 19 42 21 11 1st 77 135 19 68 55	46 19 74 43 21 5 2nd 70 26 142 72 32	9 13 12 15 62 7 3rd 34 25 21 38	11 6 8 8 2 1 4th 26 18 15 31	2 3 3 5 6 1 5th 14 3 14 7 27	0 0 1 0 1 13 6th 2 4 2 6
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON	47 83 19 42 21 11 1st 77 135 19 68 55	46 19 74 43 21 5 2nd 70 26 142 72 32 9	9 13 12 15 62 7 3rd 34 25 21 38 84 15	11 6 8 8 2 1 4th 26 18 15 31 11 10 4th	2 3 3 5 6 1 5th 14 3 14 7 27 8	0 0 1 0 1 13 6th 2 4 2 6 3
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX PV BUW001/2/3	47 83 19 42 21 11 1st 77 135 19 68 55 22 1st 269 414	46 19 74 43 21 5 2nd 70 26 142 72 32 9 2nd 255 186	9 13 12 15 62 7 3rd 34 25 21 38 84 15 3rd	11 6 8 8 2 1 4th 26 18 15 31 11 10	2 3 3 5 6 1 5th 14 3 14 7 27 8 5th	0 0 1 0 1 13 6th 2 4 2 6 3 44 6th
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX PV BUW001/2/3 Tony BOYLE	47 83 19 42 21 11 1st 77 135 19 68 55 22 1st 269	46 19 74 43 21 5 2nd 70 26 142 72 32 9 2nd 255	9 13 12 15 62 7 3rd 34 25 21 38 84 15 3rd	11 6 8 8 2 1 4th 26 18 15 31 11 10 4th	2 3 3 5 6 1 5th 14 3 14 7 27 8 5th 51	0 0 1 0 1 13 6th 2 4 2 6 3 44 6th
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX PV BUW001/2/3 Tony BOYLE Diane CALDER	47 83 19 42 21 11 1st 77 135 19 68 55 22 1st 269 414	46 19 74 43 21 5 2nd 70 26 142 72 32 9 2nd 255 186	9 13 12 15 62 7 3rd 34 25 21 38 84 15 3rd 122 114 76	11 6 8 8 2 1 4th 26 18 15 31 11 10 4th 89	2 3 3 5 6 1 5th 14 3 14 7 27 8 5th 51 34	0 0 1 0 1 13 6th 2 4 2 6 3 44 6th 22 8
Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX 029 BUW Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON Ellen GLASS Jack THOMPSON BOX PV BUW001/2/3 Tony BOYLE Diane CALDER Janet CAMPBELL Alex DAVIDSON	47 83 19 42 21 11 1st 77 135 19 68 55 22 1st 269 414	46 19 74 43 21 5 2nd 70 26 142 72 32 9 2nd 255 186 381	9 13 12 15 62 7 3rd 34 25 21 38 84 15 3rd 122 114 76	11 6 8 8 2 1 4th 26 18 15 31 11 10 4th 89 73 60	2 3 3 5 6 1 5th 14 3 14 7 27 8 5th 51 34	0 0 1 0 1 13 6th 2 4 2 6 3 44 6th 22 8

NB The STV election results cannot be calculated from these numbers.